.20 point=i Let Tixi — Ax a linear transformation w/ A dei"d Dy

Then find 2l solitions of the svstem Ax = b What v the Rank of the Linear
Transformation? i You mev use the back of this sheet it vou need additional space. )
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20125 point=1 Let Lix) — Ax a Hnea tranaformation o/ A def™d by

b — —t

.

Calenlate the mverse of A i 1t exists.
invertibibty of a square matrix?
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3. 120 poltts ]

(a1 Give an exwnple of o 3 x 2 watrix A and a vector b suel that the svstem
Ax = b has a nngue solution. Why dorsu 't this contradict the invertibility
eriterio of matres?
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(b} Daoes the mairix
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represents a rotation? Ixplain very briefly.
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a linear transfurmation? E\p aln.
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4025 point) Let Tixl — Axca linear transformation w/ A detd by

b0 2 1

_ o =3 -1
A i1 -6 8
0 -1 3 4

(1} Find a spanning set for the Kernel of A

(b} Find a spauning set for the lmage of A that consists of only 3 vectors. fep one
of the vectors may be a linear combination of the others and henve omittable
in the span.)

(¢} Are the columns of A lincarly independent? Fxplam Clearly.
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p) Let C; be ‘the columns of A for IS S 4
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